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Aufgabe 1
Berechne.

a) 117 4+ 70
e) 621 4+ 60
i) 425 + 70

Aufgabe 2

Berechne.

a) 300 + 500
e) 200 + 200
i) 800 + 100

Aufgabe 3

Berechne.

a) 17245
f) 625 4+ 4

Aufgabe 4
Berechne.

a) 9540 + 200
¢) 5159 + 500
i) 8306 -+ 300
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b) 502 + 90
£) 651 + 10
i) 914 + 80

b) 100 + 200
£) 100 + 800
i) 600 -+ 100

b) 291 + 6
g) 756 + 3

b) 3194 + 700
f) 2285 + 500
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¢) 731 + 20
g) 817 + 40

d) 316 + 80
h) 723 + 60

¢) 700 + 100
g) 400 + 400

d) 500 + 200
h) 500 + 100

c) 771 + 8
h) 533 4+ 6

d) 257 + 2
) 512+ 6

e) 412 + 7
j) 892 47

¢) 2416 + 400
g) 6274 + 500

d) 7351 + 600
h) 2267 + 500

i) T277 + 400
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